1285/16 D

AT TSR / Govemment of India
3iafter fasmer / Department of Space
fwer wrreng 3aftar %% / VIKRAM SARABHAI SPACE CENTRE
fo¥aeiaqe# / Thiruvananthapuram - 695 022

WRITTEN TEST FOR SELECTION TO THE POST OF TECHNICAL ASSISTANT (ELECTRICAL.ENGG. ADVT NO. 291
9 ¥.1285 / Post No 1285

faf/Date: 28.08.2016
A& 3iF/Maximum Marks : 320 FAATime. 2 ©&/ hours
373grdt &1 ArA/Name of the candidate 3egshai H/Roll no.

et & faw sreer /nstructions to the Candidates

1. 9% EFRT 39 H1ESA 3 S T 10 3iT-el1seT 3eT & YR W I Fafle wler v 3mifra
ﬁmmn%l aﬁrmaafr ﬁm’r EiCG 'q‘?r muﬁﬁr@r%mﬁw*maﬂm

You have been called for the written test based on the online data fumished by you in the web application. If you have
wrongly entered in the web any information or you do not possess the required guallﬁcahon as per our advertisement,

your candidature will be rejected.

2. qﬂmmﬁﬁﬂmaﬁrmﬁamaﬁ-mwmmml
You should sign the hall ticket only in the presence of the Invigilator in the examination hall.

3. WO, 80 WRAT H IoreT RA-IRaHT H FT A § AR wdrem i afr 02 W ¥
The Question paper is in the form of Question Booklet with 80 questions and the duration of the test is 02 hours.

4. IETHIRSAF AT gl ofy AR 3rer TR Seer-gReaen & seh|
A sepalate_OMR answer sheet with duplicate will be provided to mark the answer options.

5. TF W HAT 04 3w g 3R 9T 9T 3] FIAT UF 3iF BT I | |

Each question carries 04 marks and one mark will be deducted for each wrong answer.
: P.TO



10.

1%

12.

13.

14.

15.

IR g Bl H AT we-giege Aol Fis (@A), STEIR 3cax gRaer w1 Afis 9 W

ferae =nfgw)
Question booklet series code (A/BIC/DIE) printed on the right hand top corner should be written in the OMR
answer sheet in the place provided.

-G H HTIHT ATH AT JeTshaich el Tordd |
Enter your Name and Roll Number cormrectly in the question booklet.

INTANR Sear-gRecant 3 gl wiafeear defl/arel wamd & s age 3o @ & hr o anfye
All entries in the OMR answer sheet should be with blue/black ball point pen only.

IR fweut Ffed argfass yaR & we gt oot @ G e niRew s @ |8 @ |
The questions will be objective type with four options out of which only one will be unambiguously correct.

TR, S-S 3 T 10 el & Har, Arel/arely Tt & afe T 97 & TR 3ak-

QRT3 HeEIT 3fiarer St 3ifd T TEY S 1 9T FAT 81
You have to select the right answer by marking the comesponding oval on the OMR answer sheet by blue/black ball
point pen.

T U & fAT 3iah 3cav ITeldd ATAT ST |
Multiple answers for a question will be regarded as wrong answer.

TAAare Bl &% e § L0GH Y, 9159-
Computers, calculators, mobile phones and other electronic gadgets, text books, notes etc., will not be allowed
inside the written test hall.

On completion of the test, tear the OMR answer sheet along the perforation mark at the top and hand over the original
OMR answer sheet to the invigilator and retain the duplicate copy with you.

- RETehT 31T 3+t O T W B
The question booklet can be retained by the candidates.

G0eTT & WA 6 & 2RI Irsaiat ot gie oY i Al A8
Candidates are not permitted to leave the examination hall during the first hour of the examination.

2 1285/16



1.

dEeAlh TEEs - fega (1285)
Technical Assistant - Electrical (1285)

A dlecdl &7 & 200W U 860W & &cdr & 1T 200W acdr & 9faer
BIamI

Between 200 W and 860 W lamps of the same voltage rating, the resistance of 200 W lamp will be

(a) 3TIAUHigher

(b) HATA/Same

() et & YHfA F IHTAR SGeAA/ Varies with nature of supply

(d) AFTR/Lower

ASGHRT FURT & ST Y Z@RT R S &

The energy of a charged condenser is given by

@ 5 ® = © % @

W O Gt N & R, Rege vd aitis R & 9 & dew @

&aRT e Srer § |
For a P-pole machine, the relation between electrical and mechanical degrees is given by
4

@ OOt ()  Oe= 2Oueen () O Pliect (D) Ouicr™ = Gt

P

P A 1 §&ar W N pm & afd & g9 e S Iy F dedfw Rwdw
gl

In a DC generator having P number of poles and speed of N rpm, the frequency of magnetic
reversals will be
PN PN PN

@ - ® © s | @

AT AT AT 200 a. F FINOT AT §1 I IR 9RT 20 A TUr IWEFR &1 gy
0.5Q § dr sl Rega aws oo glam|

A DC shunt motor runs at 200 V supply, if the armature current is 20 A and resistance of the
armature is 0.5€, the back e.m.f developed will be

(@ 210@r/v () 200ar/V () 190ar/v (d 180ar/V

3 1285/16



10.

3T TreE B F FH (Q-om)” F Regd arerFar g ¥

Semiconductor have electrical conductivity of the order of (Q-cm)™

@ 10° (b) 1073 ) 10 @ 10

415V, 50 Hz & U 3 el 3 3030 3ol #ex H 3T AT G Fgoll gl
A 3 phase 3 element energy meter of 415V, 50 Hz has its pressure coil rated for

(@ 200V (b) 240V () 415V d 440V

ACH# rm.s A & AR B

The r.m.s value of A.C is equal to :

(@ 0.637 T HfAFAH A/0.637 of max. value
() 0.707 FT IfAFAA AA/0.707 of max. value
(c) 1.414 Fr HOAFIA AA/1.414 of max. value
(d) 3IFAA A/The maximum value

i =xor gfer drer Fsfaat & der el
Total number of coils per phase per pole is
(a) Total no.of coils (b) Total no.of coils
No.of phases No.of phases X No.of poles
( ) Total no.of phases ( d) No.of phases X no.of poles
No.of coils Total no of coils

v &7 g3 & A AT F 400 e TS 8 uier ¥ YR SRy e @ aeed 2 dlee ¥ AT

#T dleedr 39T T ¢l

A lap wound DC machine has 400 conductors and 8 poles. The voltage induced per conductor is 2
volts. The machine generates a voltage of

@ 100V (b) 200V ) 400V d 800V
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11.

12.

13.

14.

TF Ftold cdig gl

A Kaplan turbine is

(@) AR warg 3maefr Tdsa/Inward flow impulse turbine

(b) SEF varg gfaurd’ calgad/Outward flow reactive turbine

(©) 3=9 MY fAfAT yarg e=is1/A high head mixed flow turbine
(d) A% Y 3T yare eaf=a/Low head axial flow turbine

10%.m.m¢ﬁwmwmﬁagammlM93mm$ﬁﬂﬁ

100 . . serg #r Rgga v ufdRe gt

The insulation resistance of a cable of length 10 km is 1 MQ and for a length of 100 km of the same
cable the insulation resistance will be
@ 1MQ (b 10MQ () 0.1MQ (d 0.01 MQ

TF HRUR Aofr afay W AT ROF @ar
An RLC series circuit remains predominantly inductive

(@) I qu%l' /At resonance frequency

(b) e m % =ird/Below resonance frequency

(c) 3HefAlg Hﬁ%f & FW/Above resonance frequency

@) o7 et afaw HAATE TR/At lower half power frequency

AT T ey F 600f%. o, o oo eror Yar ganr ot &

AT |
The time taken for a surge to travel 600 km long over head transmission line is typically
(@ 6xJ/s ® 138/ () 0.02 AJs d 0.002 ¥./fs
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15.

16.

17.

18.

19.

aTe] a3 3-e IROT A 1 et eieh ¢l

The maximum torque of a 3-phase induction motor under running conditions is

(2) TIWOT dleeal & CIGEIEGE Hﬂqmllnversely proportional to supply voltage
b)) s Rea # Ve vfaua & gfaeRa: mﬂmﬁa?llnversely proportional to rotor

reactance at stand still

(c) X gfeer & T"I?f: 3ﬂ§'¢l‘lﬁ$fDirecﬂy proportional to rotor resistance
(d) Sﬂﬁ # ¥ S FAE/None of the above

I Fgr AT A, IaHeA AR ganr R giar gl
In a moving coil instrument, the damping torque is developed by

(@ Y HYOT/Air-friction (b) HaX YRI/Eddy-current
(c) % E¥UT/Gravity-friction (d R TYUT/Fluid-friction

OF B 4kW Tag WK ¥ aur ST USd Sl WIWOT H 3TAT R T g W H

T #la-d F3t Ay T 39gFT geml

A house has 4kW connected loads and is fed by single phase supply. What range energy meter is
recommended for the house?

(8 50A ®) 15A © 30A @ 10A

1 mA R & I # 10mA T & aeaar §1 A A g FIAN F 36 Q F ARG B
TR & Hag A o ARG F1 H{e fraem 872

The range of 1 mA meter is to be changed to 10 mA. The moving coil of the meter has a resistance
of 36 Q. What is the value of resistance to be connected in parallel?

@ 30 ®) 40 © 5Q @ 6Q

4-91T, 25kW, 200V, AT g8 Bl gie T #, TE FHWCR T H GRT

gl
In a 4-pole, 25kW, 200V wave wound DC shunt generator, the current in each parallel path will be
(@ 125A (b) 62.5A (c) 31.25A (d) 250A
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20.

21.

22.

23,

120VET & 1 Q &1 Aol 3aRs wfadey &1 v dig & aome A9 3ffsan afea
gl

A 120 V source has a series internal resistance of 1 Q. The maximum power that can be delivered
to aload is

(@) 1800 W (b) 3600 W ) 800W (d 14400 W

¥ # REw 7T 37aR 9y R & aRe aRf & & ga/gd aaa & fav sher
T FTE & Qe sR(1A 7 GF) F & w7 gaEr gfadey gl

Twelve wires, each of resistance R, are connected to form a cube as in figure. The effective
resistance between the diagonal ends of the cube (1 to 7) is

2

6

(@ 5R/6 (b) 6R/5 (© 3R @ 12R

H(s) = s ® IoT 0 RS yomrel A v 3918 A9 Gl fder garr scafara far
=T >0 F v 9w gl

A linear system with H(s)= 1/s is excited by a unit step function input. The output for t >0 is given
by

(@ 3@ () 1 © t @ ¢

R & L aur I, &1 waww: A = g?
The value of I, and , in the figure respectively?

@ 0,9 ®) -9,3 ) -3,9 @ 3,-9
7 1285/16



24,

235,

26.

27.

Hﬁmmﬁmﬁmﬁmsommmwaﬁmm#ﬁvﬁm

ST FehaTT & gl
The maximum possible speed at which an alternator can be driven to generate 50 Hz
and 4000V is

(@ 1500 IRYICH/rpm () 3000 IRATH/rpm
(c) 4000 IIRYTH/rpm (d 3600 IRYTA/rpm

uﬂlmamhas%ara:mr:gmwmumﬁ,a}zﬁﬁammu@m
fawfaa <is & Jearfas Bl

If Iy and I are the currents in the main and starting windings respectively, the torque developed by
a split phase motor is proportional to

(@ InTd L ¥ T FIOMT WIE/Sine of angle between I, and I,

®) 1,99 L & & Fof HIGTS/Cosine of angle between I, and I,
(c) HET arsfSar URT, 1/Main winding current, I,

(@ Teas aEfE o, I/Auxiliary winding current, I

B PR 7 397 A gl
The motor used in household refrigerators is

(@) SR Aoft & AYDC series motor

(b) SHY e AEY/DC shunt motor

(c) JHATYR AT /universal motor
(d) Ul TIoT WROT AIeWUsingle phase induction motor.

Rega mi= 7 & de-Re & AR gl
A pole—pitch in an electrical machine is equal to

@ 90 ﬁEET-I' f8af/electrical degrees (b) 120 faegd fEafielectrical degrees

©) 180 faega fefiielectrical degrees @ 360 g fafi/electrical degrees
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28.

29,

30.

31.

32.

A JUTATE & T FOTATE R T ST ¥ | TR & 0T Y HHISAT 7 Gl 7o |
An alphabet is chosen from English alphabets. Find the probability of choosing a Vowel ?

@ 126 (b) 5126 @) 21726 @ o

sin 120° cos 330° + cos 240° sin 330° FT AT gl

The value of sin 120° cos 330° + cos 240° sin 330° is ?

b

@@ 1 b -1 () 0 @

. 2x2 +3x+4x
lmT-._
x—00 X“+4x+1

T AT gl

. 2x%24+3x+4x .
The value of lim ———— js?
x—oo XZ+4x+1

(@ 2 ® 3 © % d 4

cos(x) & sin(x) &r a'_J,Fqﬁ-‘rl' gl

Derivative of sin(x) with respect to cos(x)

(8 —cot(x) (b)  cot(x) (©) tan(x) (d) —tan(x)

fog o 2x+3y+9=0 Y@r & ¥ =8x A g B

The line 2x + 3y + 9 = 0 touches the parabola y* = 8x at the point

@@ 0,-3 () 4,2 ©) 9/2,-6 @ -6,92
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33.

34.

335.

36.

Uﬁﬂiﬁa?ﬁﬂﬁaﬁf EaRT <gad fRam Sirar §

Potential of a sphere is given by

Q Q

(a) wEyr (b) 4mEyr
Q? Q

(c) 47€gr2 (d) 4m€Egr2

T Wegd & 9 WIFT aleedl arg H Joe H 10 T HfOF fegd & 3
FAT g1 T T RideIdiF el

Voltage applied across a glass dielectric produces an electric field 10 times that of air. The
dielectric constant of glass is

(@ 0.1 ®) 10

(c) 100 (@ o0.01

E § A & IR Gdw T 4R & @ w1 Regaiva gfay a
FH T8l g arfeul |

As per LE Rules the insulation resistance between conductor and Earth should not be less than
(@) 100 MQ/3T3eae & H./no. of outlets

(b) 80 MQ /33T Fr H./no. of outlets

(c) 50 MQ/33TAT & H./no. of outlets

(d) 30 MQ /33T Fr H./no. of outlets

0.001F #T &THAT & g Wi & 200 & F W doear & gl a/=w §) wely &
aRa Fer gty

An air condenser with capacitance 0.001 pF is connected to a dc voltage of 200 V. The energy
stored in the condenser will be '

(@ 10 pS[e/10 p joules () 20 p STe1/20 p joules
(€) 20 /20 joules (d) 10 S[e/10 joules
10 1285/16



37. U e (50Hz) gof uRad® #, feie aieear # sFer smgfea wr &2

38.

39.

40.

41.

In a three phase (50Hz) full converter, the ripple frequency in output voltage?
(a) 50Hz (b) 100Hz (c) 150Hz (d) 300Hz

YE WOIF (Fsfdea) YR ARG v vl Fol dleedt & T aler SfaeAs F GRT @
T w9 gl

A single phase voltage source square wave inverter, feeding pure inductive load, the waveform of
the current will be

(a) SHIEhII/Sinusoidal (b) ITAAFR/Rectangular

(c) THAH/Trapezoidal (d) TETHR/Triangular

T YIhIT 9er RN AT F IR o ST B

Above Curie temperature, a magnetic material becomes

(a) Q?ﬂ?:l;aﬁﬁlferromagnetic | (b) qﬂl?:l;ﬁ?l'lparamagnetic _

(c) SHTgEHIA/diamagnetic (@) 39T # { F$ Fdi/none of the above
Foa i JEHH AT WTUROTTAT ¥ Afa €

High frequency transformer cores are generally made from

(a) IRTSTH/Ferrites (b) THAY-GTd/Mu-metal

() &A= HTcf/Mone-metal (d) N’é’dﬁ‘l’ qE Hﬂé’ sT61/None of the above
g 9T H AT A & faw Iuater frar sar g

Hall effect can be used to measure?

(@) faega &7 MadVElectric field intensity
(b) YT & Nac/Magnetic field intensity
(c) dTg® HIGOT/Carrier concentration

(d) Eﬂ'ﬂlﬂ' H A IS AE/None of these

11 1285/16



42.

43.

45.

maﬁwﬁta}mﬁwoaﬁmﬁlmaﬂraﬁ%ﬂﬁwwa@mm
gem?

A transformer steps up voltage by a factor 100. The ratio of current in the primary to that in the

secondary is

@ 1 (b) 100 © 001 @ 0.

eI T Sl (AB'C'+ A'BC'+ ABC + ABC') & WgFd &7 &I TR
¥ T ST FFhaT ¢

The minimised form of Boolean logic expression (A'B'C' + A'BC' + A'BC + ABC') can be
reduced to

(@ AC'+BC'+AB (b) AC'+B'C'+AB
(c) AC+BC+AB (d AC+BC +AB

T i &1 Faw (@@l 7 W @ fag w Rar e e sQ@s Ao @ Raw
H TFH Tl WIEAT 0T 81T §) T8 59 UK &1 dF gl

A staircase switch (where the switch in each floor has independent control over one lamp
irrespective of the position of the switch in other floor) is which logic

( NAND (b) NOR (c) XOR @ OR

TF oY TR @ A, 9oy 7 gfdea A 9w S § awr $R R e wda
BT &, 9R A gt

In a short transmission line, resistance and reactance are found to be equal and load regulation
appears to be zero, the load will

(a) SHH THe AT qoTh &fi/Have unity power factor
(®) A T ufed Ut g19fi/Have zero power factor
(c) TH 0.707 Fruaddr greii/Have 0.707 lagging
(d) THH 0.707 Fr 3RRaT 8 Have 0.707 leading

12 1285/16



46.wqﬁwﬁzzg#qﬁmm%wagqﬁwo.sﬂalﬁ?rwwmﬁ

47.

48.

49.

50.

10 THRR 4RT digar §1 i@ & @ #la-r smmda afFg aee

A circuit has an impedance of 22 Q and drawing a current of 10 amperes at 0.8 power factor
lagging. Which one of the following will be the apparent power ?

(8 22kVA (b) 22kVA (© 220kVA (d 1.76kVA

3-¢ gfeid ROy & afdd A & 9 & dleArdr F 3w fRAr ST ¥ W U
dicATdr HulcAs Rard &, sus Aaae 98 & fF geaar S gl

When two wattmeters are used to measure power of a 3-¢ balanced circuit and one wattmeter reads
negative, it means the angle of lag is

@ o° b 30° (c) 60° (d) 60°® FUT/Above 60°

150 % it T afoRiel @ Seer F 400 V, 3-FT TR & i wag Rear 4w B

TAF & TG WR Wag 0 & 9ok & o1 g

Three identical resistances, each of 15Q are connected in delta across 400 V, 3-phase supply. The
value of resistance in each leg of the equivalent star-connected load would be

@@ 15Q ®) 7.5Q © 50 @ 30Q

3-%, 3-cTS=TaTelr 100 TR, Sy FEROT ST @ 110 falaee (KV) @ &g frar o=
¢l I 9AF B A @A SMWE aur AT 1SOMVALT S AT AT afRYy —
g

A 3-phase, 3-line, 100 Km long transmission line is loaded at 110 KV. If the loss per phase is
5 MW and the load is 150 MVA, the resistance of line is.

(@) 8.06CQ/phase  (b) 0.806 Qphase (c) 0.0806 Yphase (d) 80.6 /phase

3Fel IRy & ws W Al 1000 rpm Wfed Tegwifows afd 935 pm F
5 To @ REfa war &) Rex der = § o Vex g 400w 22

. A 3-phase induction motor with a synchronous speed of 1000 rpm develops 5 mechanical hp at

935 rpm. What is the stator input if the stator loss is 400 W?
(@ 5.6kW (b) 4.4kW (c) 3.6kW (d 72kwW

13 1285/16



51.

52,

53,

54.

wF ffded e §, 5o ORT & 8 mA F1 Sgd, TN ORT H 7.8 mA FT
TEAE ScUed AT &1 GO URT F TAGeTAT 3¢ e & AT IR O’ A

fFdaT Sdd T F™ gl

In a silicon transistor, a change of 8 mA in emitter current produces a change of 7.8 mA in the
collector current. What change in base current is necessary to produce an equivalent change in
collector current?

(3 0.1 mA (b) 02mA € 04mA (d 0.8mA

1.2 kQ HiaReF SRRy ¥ Rvaa @i &), 140 dieear gfe afta, & vads & @au @
sﬂamalﬁlooﬁqﬁmﬁagqaﬁmﬁﬁawmwmmﬁﬁm
gram? -

A signal source of internal resistance 1.2 k€ is connected to the input of an amplifier with a voltage

gain of 140. What is the value of input resistance the amplifier should have to get an overall gain
of 100 ?

@ 1kQ ®) 2kQ () 3kQ @ 1.5kQ

vF ST Wat® ¥, 20 Hz Y et 3ia® Ingiea aum 20 KHz 1 399 3w 3ngfed aw
12Q & @F ¥ 1 KHz R Yatis, ai & 20 W Uad &ar §1 W $age diecar

¥ AT 20Hz & ms 1 dleear Fhder gren?

An audio amplifier has a lower cutoff frequency of 20 Hz and upper cutoff frequency 20 KHz
has a load of 12 Q. At 1 KHz the amplifier delivers 20 W to the load. What is the rms load voltage
at 20 Hz, for identical input voltage?

(@) 1095@L/V () 123581V (c) 16.12ar/V (d) 348ar/V

gﬂﬁaﬂr(ﬁgamtﬁmwmmmﬁmwnalmﬁﬁagmrm
gfe A, @ HOUNHS qefetaer(Frsae) ReAfhaE) m, ¥ gAu(RsIE) wfea
W@ fawqor 8|

The non-linear distortion of an amplifier is D without feedback. The amplifier has an open loop
voltage gain of A, and negative feedback fraction of my. The non-linear distortion with feedback
will be

@ D(+A.my) () D(-A.m) () (+A.m)D () DAl+A.m)

14 1285/16



55.

56.

=

58.

uﬁﬁ%ﬁaww&mﬁﬁam%ma@aﬁmﬁzmaﬁqﬁﬁ

ST &, I 3@ ST § fF URT 99 AT @ § ol s afa

If flux of a DC Motor is unchanged, and supply voltage is increased by 20%, it is observed that the
current remained same as earlier. Its speed

(a) 39Rafdd W@IN/Remain unchanged

(b) 20% & F¢3M/Increases by 20%

() 20% ¥ Te3f/Decreases by 20%

(G 3'CI'-‘.5I33T-I' H ¥ FS 7€ None of the above

yIed AR & e & fAeafaf@a gar aRafda fFar s gear 2

The torque of a given motor can be varied by

() wFd 9REde A/Changing flux

(b) 3R arT 9Rads V/Changing armature current

(c) YoFH UG IR 4RT At & IRadeT @/Changing flux and armature current both
(d) AR 9Y A &I & qREc A/Changing no. of parallel paths

CRRIAT &1 aHaT ¢l
The regulation of a transformer is
VoV Vo—V V-V, V-V,
(a) °vo xX100% (b) V+°—Vo x100% () = 2x100% (d) Vo“ %X 100%

4 Pole , 3¢ WUT A 3¢, 50 Hz TIWUT H FF FIaT ¢l G A &1 AT 4% &,

ar 3 aafas aifa gt

A 4 Pole , 3¢ induction motor works on 3¢, 50 Hz supply. If the slip of the motor is 4%, the actual
speed will be

(@ 1500 IRWTH/rpm (b) 1460 IRNTH/rpm
(¢) 1440 IRWTH/rpm (d) 720 IRITH/rpm
15 1285/16



39,

60.

61.

62.

Teh 95 e U & A wfaiyr = gl wafpe?

What should be the value of earth resistance for a large power station?

@ 1Q b)) 050
) 2Q @ 50

TUR s & 9 (@S vd FealtR §9 @) IR Fad e {1 gead A

T g1 AIfgu?

What should be the minimum clearance for laying power cables near communication line
(horizontally and vertically)?

(@ 02m ) 06m

© Im d 15m

T ARHNAE A, A3 BT asfea gl

In a microprocessor, op-code fetch cycle is?

(@) 3HeIeRr WBfhd &7 3HfdH HWT/Last part of instruction cycle
(b) 3eTCRT WSTHer FT GAH HE/First part of instruction cycle
(c) 3@?1’ arsfhar & AT HET/Intermediate part of instruction cycle

(d) ¥ @RI 32T RARE/Data reception through bus

J sin(x) dx & GHARel _ el

| sin(x) dx is

(@ sin(x) (b) cos(x)
(¢) —sin(x) (d) —cos(x)
16
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63. IHET T A UF Jeddlfas ST F TN R GF TR ARFROF T A & B

65.

S 38F BIes Icdoled T GG STaT &, 9T IS T 87

A synchronous generator connected to an infinite bus delivers power at lagging power factor. If its
field excitation is increased, what is the effect?

(a) cfA=er aleear ag s &/Terminal voltage increases

(b) IOT Y Aleear I8 AT €/Voltage angle increases

(c) TAROT #r ¢ GRT 95 ST §/Current delivered increases
(d) 3T HAVAL of the above

maﬁmmwmmw@ﬁaﬁm%m

The Farranti effect on long over head lines is experienced when

() oI @1 7 A=r 9§ HI STell ST /The line is slightly loaded
o) o qUTH # UHar gidr #/Power factor is unity

(c) T qUTH H HUAFAT B §/Power factor is leading

(d) FRIVT GHEG ST HfF T gIar §/Corona effect is dominant

et oty fedes & wad 31f0s gaer = adr 2

Which is the most serious problem in vacuum circuit breaker
(2) e 3Th RGN/ Poor arc quenching

(b) =T 5T TfAca/Low thermal stability

(c) ©RT WI/Current chopping

(@ FIdFT FIAL of the above

URT 1 d5e FHAN qIAF F o dehT 87 F R @ &aRT 9T

SRIRIT ST Wbl gl
The direction of magnetic field set up in a current carrying conductor can be found out by

(@ WlfAw gfAonadf AaeA/Flemings right hand rule
(b) WA ATl A =A/Flemings left hand rule
(c) i% B fATA/Cork screw rule

(d) o EFH/Thumb rule

17 1285/16



67. O FY &7 & fov fWa wduw FEl PEWH S 6T 1T §, FOHFA

68.

69.

70.

71.

glam|

The Illumination required for a work place where fine work is performed will be of the order of

(@) 500 TgA/a Fe/lumens/sq.m (b) 1000 *gHA/G FEY/lumens/sq.m

() 1500 sgAA/G AeWlumens/sqm  (d) 2000 TR/ Hie/lumens/sq.m

Y ¢ga i safa garar gl

Luminous efficiency of a fluorescent tube is

(2 10°gAA/ATE/10 lumens/'W (b) 20 FA/ATE/20 lumens/W
(c) 60 FgAA/ATE/60 lumens/W (d) 150 gAA/ATE/150 lumens/W

20 ¥ 100 KHz #H vanfera vwesdied A, fea Rafr g 4 §7?
In an SMPS, operating at 20 to 100 KHz, what is the main switching element?

(@) Gr3REThyristor (b) HEHS/MOSFET
(© feuwH/Triac @ FHEUIT

THF 100V A F AT T01H F s3fead ais & &g dis #f ARa &= & v
v AR & s R o ) gy fr afd 9rT 100 mA § aBRE #@

] FA F AT 30F e W ~EraA gow Gl = geire

Between a 100 V DC source and a 0.1 H inductive load, a thyristor is used to control the load. The
latching current of the thyristor is 100 mA. What is the minimum pulse width to be applied to the

gate of the thyristor to turn it ‘ON’.
(a) 100 s (b) 100s (¢) 1ms (d 50ps

50Hz 9t & fAT fheey GUTRT &1 WUROE: AW R 872
Typical value of filter capacitor for a SO0Hz rectifier?

(a) 1000 pF (®) 50pF (c) 1000 pF (d) 100 pF
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72. A RE v @7 & HqER, 2 Qufkivs & B Rufa arr gl

73.

74.

7.

In the Figure shown, Steady state current through 2Q resistor ?
2Q

@ 12A (b) 09A () 06A @ 52A

RT &, R=1Q, i®r arr T 87
In the figure, R=1 Q, what is the value of i?

@ 1.65A ®) 15A © 4A @ 25A

UF TIAUATA O H, <b> tag & HAar Aefaf@a 7 @ Fla-ar wes e & Aler
Far &7
In a HTML page, apart from <b> tag which of the following make the text bold ?

(@ <fat> (b) <strong> (c) <emp> (d) <thick>

o: fac dEumit # ¢fd @&, v & 9 Rew qur oA §v 7 RfErr An gt @
a3t 011000 4T 011000 quitert A3 3ifavarg F FROT T

Consider the representation of six-bit numbers in two’s complement, one’s complement and sign
and magnitude format. In which representation, the addition of integers 011000 & 011000 will
result in an overflow.

(a) afa' 93 ATH/In Two’s complement only
(b) TH Ph Tq Efa' YIh/In one’s complement and two’s complement
() e T afwmor g s YIh/Sign and magnitude and one’s complement
(d) ST HA/In all three
19 1285/16



76. 9RUT HAlX & WROT dlecdl 10% SaRT T & I §1 &ew g wfawd @

7L

78.

9.

80.

HitwaH eih Teai?
The supply voltage to an induction motor is reduced by 10%. By what percentage, approximately,
will the maximum torque decrease?

(a) 20% (b) 50% (c) 40% @ 10%

3 - ToflT WROT AleX & faw fAaer 50 fFar. &1 et 800W ¥ gear g1 Cu 9fa =Ror
gera(ffaa 3%) gl

The input to a 3 - phase induction motor is 50 kW. The stator losses amout to 800W. The rotor Cu
loss per phase is(slip=3%)

(@) 176W (b) 492W ) 1050W @ 728W

WoT Arex i AR WT afa W 3maia gl
The no load speed of an induction motor depends on

(a) HIROT 3Gfcct/The supply frequency

(b) 3E& G FI &I The number of its poles

(c) 3AFIH FAFH/AION/The maximum flux/phase
(d) & (a)T (b)/Only (a) and (b)

frrafof@a gerdf & & fFd wfoRy & RocrRs aT JoTF 72

Which of the following materials have negative temperature coefficient of resistance?

(@) Yrdd/Brass (b) diET/Copper
(c) IET/Carbon (@) vARAATA/Aluminium
SEHT a6 ¥ & AU &7 o el
For a sinusoidal wave form, form factor is
(a 1.11 () 1.00 (c) 222 (d 0.55
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